H & 0l & AHS B Ml A

AR A}
ALRAY B
AL EM=E |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A=A 20,466,044 28,116,219 AT,650,175
Jl 1,408,582
== 638,935
Al 18,418,527
AR XY FY 13,617,486 12,497,272 1,120,214
Jl 685,582
< 544,935
Al 12,386,969
e EME 54 5,473,942 4,611,641 862,301
= 457,000
Al 5,016,942
NZEAE2SHIIESLA(EX) 3,700,000 2,880,000 820,000
= 457,000
Al 3,243,000
301 EtE NS 3,700,000 2,880,000 820,000
=S 457,000
Al 3,243,000
Rzt - 2SFsS2Ys 3,700,000 2,880,000 820,000
0 tH=RIEE 23 2,320,000
O o1 & sel=dy|
1,400,000,000& x14] 1,400,000
= 220,000
Al 1,180,000
O 2dE3hl 80,000,000& x 14 80,000
O HOHIHHERIEESE XIS
240,000,000 *14] 240,000
[ 72,000
Al 168,000
O Jlet=2gH| 600,000,000 x 14 600,000
O i=s-8 29 780,000
O oiAdl & Fsel=dd|
620,000,000 *14] 620,000
< 165,000
Al 455,000
O gdss| 40,000,000& x14] 40,000
O Jlet=2gH| 120,000,000 *14] 120,000
0 S48 =24 600,000
O o1t & sel=d4y|
440,000,000 x14] 440,000
O gdss| 20,000,000& * 14| 20,000
O Jlet=2gH| 140,000,000 *14] 140,000
HEesSAE 469,960 519,960 /50,000
201 ger=3| 29,560 79,560 /50,000
01 AtR2te|H] 20,980 20,980 0




£A: ESYagsn)
BN ALINY RA
=aak El=s =4 EER=E)
L EE .G (3) - NRAY - HAS ol b e HlmS2
[ Lek==H| 16,580
O M=U3l AH&IRISt
7002 10001+ 123 840
O M=ls 22 s+=% M
120,000 =21 2 +7 3] 1,680
O Hs 84 RS ZAHH, &I HIZ
100,000& x4 S 43| 1,600
O #HEARIII| =4I 2,800
SAP| 500,0002 *1CH*23] 1,000
el 300,000& *2CH*33 1,800
O #EANRII| ARE 2L 9,660
SAD El 400,000 *1CH+33! 1,200
gl &Y 230,0002 »1CH*33] 690
HHZCH EY
300,000 4+ 1CH*62| 7,200
A El Y CH
190,000& *1CH*33] 570
O =2l 4,400
O AZ=XR HEFA
8,000& x5H x110! 4,400
02 2324l 2,580 2,580 0
03222 £ HAl 2,580
O RES (=Y, M2 5)
4302x2E+3,000H 2,580
03 A2 G| 6,000 56,000 A50,000
O === XA 6,000
O U3l 22 =9, Il ME
150,000& x5 *43] 3,000
O A& Ex g9 1,000,000 & *23| 2,000
O &J1& th 500,000 & *23| 1,000
202 04d| 10,800 10,800
01 =LHO4 b 10,800 10,800
O AZ=XE =X
20,0003 x4Z 70 5,600
O MsAdY A0 HRFA
20,000 *3Y 20 1,200
O 2E sl &2 2 "9
80,0002 5 x2 2 43 3,200
O XMA d22e BIX0H
80,0003 x5 +23| 800
307 2I2+01A 429,600 429,600
02 QIRHEAAIH B X 429,600 429,600
O guUMsEdst XA
220,000,000& 14 220,000
O sH=ddl XA 63,000,000& 14! 63,000
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B ALXMNY K4
Chel: HeEXNE |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 858 2+ d= & NEL 54
30,000,000& »14] 30,000
O Z4=EEal & dHAERO0IAE 22K
o 50,000,000& »14! 50,000
O 219y Zo|1=eta N2
150,000 #3700 2 W 1200 2 66,600
=32 X 340,982 314,874 26,108
307 elztol & 340,982 314,874 26,108
03 I HEE2SHIEx 340,982 314,874 26,108
O M=z 24| 340,982,000 x 14 340,982
AXXSY 2EAE 93,000 93,000
307 gl2to| & 93,000 93,000
02 QIZtEAAEE X 93,000 93,000
0 AXX3E &8st &
35,000,000 *14! 35,000
O 2axx3g 29 N2
58,000,000 * 14 58,000
COMA Fot K& 520,000 470,000 50,000
307 elztol & 520,000 470,000 50,000
02 2IZHBYAIHE & 520,000 470,000 50,000
O =2 I
520,000,000 x 14 520,000
H=(E)e2 gl #ot X 20,000 20,000 0
307 @I2t01 & 20,000 20,000
02 LB MAHEE 20,000 20,000
O 82(&)e= t3 ot X
20,000,000 * 14| 20,000
AZIITHE] OHEIXI& 190,000 180,000 10,000
307 elztol & 190,000 180,000 10,000
02 2B HAIAE & 190,000 180,000 10,000
O AMEJIH=l H=X2
190,000,000 *14] 190,000
CEHAU= i X 140,000 70,000 70,000
307 @I2t01 & 140,000 70,000 70,000
02 QB AANEER 140,000 70,000 70,000
O Stz HEl X
140,000,000 * 14! 140,000
dEH=E |4 1,725,168 2,572,228 847,060
Jl 655,054
== 71,49%
Al 998,619
MBS A BII2E5+E XNJ(EX) 11,620 8,760 2,860
= 3,486
Al 8,134
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 11,620 8,760 2,860
= 3,486
Al 8,134
02 2IZHBYAIHE X 11,620 8,760 2,860
O dEdsSXCA HI125 =2
11,620,000 * 14 11,620
=S 3,486
Al 8,134
EXAD M2 HFHS! OHZ 20,000 20,000 0
307 212+01& 20,000 20,000
02 2B HAHE L 20,000 20,000
O SXAD| HEHSUSE HEIXJ
20,000,000& * 14| 20,000
ANZMEHSR A BIXI(EX) 152,640 149,920 2,720
) 76,320
Al 76,320
307 @120l & 162,640 149,920 2,720
Il 76,320
Al 76,320
02 QIS ER 162,640 149,920 2,720
O HEMSX X B
2,544,000 x5 1204 2 152,640
Jl 76,320
Al 76,320
SEAMEM=UH2 HE 120,000 120,000 0
307 elztol & 120,000 120,000
02 2IZHBYAIHE £ 120,000 120,000
O SAAMdEH=U= =l K2
120,000,000 *14] 120,000
NZHEAHSESKH(EX) 183,168 177,848 5,320
Jl 91,584
Al 91,584
307 212+01& 183, 168 177,848 5,320
Jl 91,584
Al 91,584
02 2B YA E X 183,168 177,848 5,320
O oESddy dEMS XA iR
2,544,000 61200 & 183, 168
) 91,584
Al 91,584
d=cteldar=sie ot 25,000 20,000 5,000
307 21201 & 25,000 20,000 5,000
02 LB AANHEE 25,000 20,000 5,000
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0 &3¢9 MEHS0Us 012
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MEH DA 2H(EX) 26,400 36,000 /9,600
= 6,600
Al 19,800
307 @12t0| & 26,400 36,000 29,600
== 6,600
Al 19,800
02 LB HAHE L 26,400 36,000 29,600
0 d2dsuse =29 26,400,000 * 14| 26,400
< 6,600
Al 19,800
CodEsUR &0t 110,000 110,000 0
307 el2to| & 110,000 110,000
02 2IZHB YA AR & 110,000 110,000
O 2 dE Sl 2ot 3l
110,000,000 *14] 110,000
ARXAROISANE(EX) 359,100 195,500 163,600
Jl 251,370
= 32,319
Al 75,411
307 @120l & 369,100 195,500 163,600
Il 251,370
= 32,319
Al 75,411
05 212t =S 359,100 195,500 163,600
0 AZXAH0IEH X
95,0002 3151200 & 369,100
Jl 251,370
= 32,319
Al 75,411
SXAD M= &t 55,000 55,000
307 gl2to| & 55,000 55,000
02 QIZtEHAEE X 55,000 55,000
O SXAPD| HEM=s0UE o124
55,000,000 *14! 55,000
MBS X WEHl X2 (EX) 13,200 13,200 0
< 3,960
Al 9,240
307 glztol & 13,200 13,200 0
= 3,960
Al 9,240
02 2IZHBYAIHE A 13,200 13,200 0
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M AEXMNY 84
Chol: MBS A (ol a2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O M= X=A BESHl K&
100,0002*x11E* 12042 13,200
& 3,960
Al 9,240
d=2l1 s70a #It 10,000 10,000
307 2I2+01™ 10,000 10,000
02 QIZHAAAIHE X 10,000 10,000
Z=2l0 2008 &t B
10,000,000 * 14! 10,000
Zd5cl OF20ial &t 10,000 10,000 0
307 212+01 A 10,000 10,000
02 QIZHAAAIEER 10,000 10,000
[0 &=cld ortisl &I 2l
10,000,000 14| 10,000
NOHEAl MEMESUEHE &It 20,000 0 20,000
307 2I2+01™ 20,000 20,000
02 QIZHAAAIHE X 20,000 20,000
O XHHE Al MEMSWSHE ZDt
20,000,000 14! 20,000
IAEH2LMEN SIS &t 40,000 40,000 0
307 212+01A 40,000 40,000
02 QIZHAAAIEER 40,000 40,000
O F=HEMMEM=HE &I El
40,000,000 *14] 40,000
2ENSSUe & 5,000 5,000
307 212+01™ 5,000 5,000
02 QIZHEAAIHE X 5,000 5,000
O Z=AESUs &83H|
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E=8USRIA 32,000 32,000
307 2I2+01A 32,000 32,000
02 QIZHAAAIEER 32,000 32,000
O S=2UsX& 32,000,000 *14] 32,000
AEAICIS0F2E 3 &I K12 20,000 20,000 0
307 212+01™ 20,000 20,000
02 QIZHBAAIE E R 20,000 20,000
O & ACIS0E &It XA
20,000,000 14| 20,000
FH M=sSUAAFAIUE HE 25,000 25,000 0
307 2I2+01 ™ 25,000 25,000
02 QIZHBAAIEER 25,000 25,000
O &H d=238SAAFAILE Nzl X
25,000,000 14! 25,000
FH H=SSAAFAIUE A 25,000 25,000 0
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MEHNSXNA SEYH= N 13,000 0 13,000
307 212t01™ 13,000 13,000
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O dEHSXEA SRS XNE (4, F:4)
500,000 22|« 13¥ 13,000
ZEA=0t2HEHS 100,000 0 100,000
S 20,000
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Al 80,000
ZoHel AmxAL 0|83 XF(EX) 57,000 10,200 46,800
Il 39,900
= 5,130
Al 11,970
307 212told 57,000 10,200 46,800
Il 39,900
& 5,130
Al 11,970
05 2ItRIE = 57,000 10,200 46,800
O ohelAZ=2% 0|82 K&
95,0002 x50 * 1204 57,000
J| 39,900
< 5,130
Al 11,970
S[UHHAASH 2S(EX) 200,000 205,000 £5,000
Il 160,000
Al 40,000
307 212t01™ 200,000 205,000 25,000
Il 160,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 40,000
02 QA AAEE X 200,000 205,000 25,000
O =2H=5100 SAMHISHE =29
200,000,000 *14] 200,000
Jl 160,000
Al 40,000
Jtasia A=A B5 70,000 140,000 A70,000
Il 35,000
Al 35,000
308 AXIMS0IA 70,000 140,000 A70,000
Il 35,000
Al 35,000
08 W=J[20tHer 2 70,000 140,000 70,000
O Jreedd AXXA 2g5AHY
70,000,000 *1IH £ 70,000
Il 35,000
Al 35,000
MBS EA 2s28S K2 (H2AEE) 1,760 0 1,760
Il 880
Al 880
307 elzto| & 1,760 0 1,760
Jl 880
Al 880
02 2B YAIHE A 1,760 0 1,760
O dEdsNcAt 2s28e A
160,000& 11 1,760
Il 880
Al 880
o= |4 150,89 132,923 17,973
Jl 30,528
s 1,440
Al 118,928
ZOoHIM=CHal &t 40,000 30,000 10,000
307 212+01™ 40,000 30,000 10,000
02 LB HAHEE 40,000 30,000 10,000
O & Z0N=s= =0t X2
40,000,000 * 14 40,000
Joeld=sgs N 5,040 5,040
301 EtE N = 5,040 5,040
11 HAIMHIXIZ S 5,040 5,040
O 2E M= U=l LA &S24
60,0008 23| »42H 5,040
ZOHe! SHitSAE= (3 40,000 35,000 5,000
307 21201 & 40,000 35,000 5,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 40,000 36,000 5,000
O ool stitsA =zl A&
40,000,000 *14] 40,000
ZOHQIME S X=X BHXI(EX) 61,056 59,283 1,773
Jl 30,528
Al 30,528
307 21201 & 61,056 59,283 1,773
Jl 30,528
Al 30,528
02 LB HANHEE 61,056 59,283 1,773
O SO HHS X=X BHKI
2,544,000 x2E « 12 61,056
Il 30,528
Al 30,528
DN MBRSNCA RS L HII254E NRA(2 4,800 3,600 1,200
%)
s 1,440
Al 3,360
307 @I2t01 & 4,800 3,600 1,200
& 1,440
Al 3,360
02 IHB A HE L 4,800 3,600 1,200
O ZOHAMEMS XN A WSHl X2
100,000 =2 * 122 2,400
= 720
Al 1,680
O ZHQMEHSUEH HI|254L X
100,000 x2& * 12 2,400
== 720
Al 1,680
M=t X2 4,167,480 3,080,480 1,087,000
= 15,000
Al 4,152,480
Chal JH=l 224,480 224,480 0
201 er2 3| 193,720 193,720
01 At2teltl 93,620 93,620
0 eS| 88,500
O tals= &% MH
110,0003 504 2= %402] 22,000
O 2UHd=2 NEEE S5 MA
4,500,000 * 14 4,500
O U= g=2= N&
2,0002 *1,0000H*10=] 20,000
O AXXEE S2E M HMH
10,000& %1,000% 10,000
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